

#### Pay Estimate Created Date: October 1, 2024

	Progress Estimate Number		40119-F02		Pay Period Start	Septen 2024	nber 16,	Original Contract Amount \$1,922,425.74 Net Change Order Amount Current Contract Amount \$1,922,425.74			
6			I.B. West Contractir Company	Ũ		Septen 2024	nber 30,				
Approval Date	Approval Date										
October 2, 2024	October 2, 2024 Generated and Approved (and should be considered Draft) at the Project Office Level by										
October 2, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
October 3, 2024	24 Reviewed and Approved at the Central Office Controllers Office Level by										
Original Completion Date Current Completion Date Actual Completion Date %							% of	% of Current Contract Amount Complete			
November 1, 2	024	Novem	per 1, 2024					46.44%			
	Contra	act Informational D	ates		Milestones						
Date Description	Origin	nal Completion Date	e Current Comple	tion Date	No Milestones	Exist for	<sup>-</sup> Contract				
Acceptance Date											
Awarded Date	Februa	ary 14, 2024	February 14, 202	24							
Letting Date											
Notice to Proceed Dat	lotice to Proceed Date March 11, 2024 March 11, 2024										
Open to Traffic Date	en to Traffic Date										
Work Began Date	ork Began Date										

Contract Total Pay F	or Estimate No. 6			
		This Estimate	Previous	To Date
240119-F02				
	Total Posted Items Pay	\$572,119.10	\$320,606.77	\$892,725.87
	Gross Item Adjustments	(\$23,187.17)	\$0.00	(\$23,187.17)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$320,606.77	\$869,538.70
Contract Total Payab	ole This Estimate:	\$548,931.93		

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J6S3630	0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$90.000	3,285.19	\$295,667.10			
	0040	4071005	TACK COAT	GAL	\$2.500	2,624	\$6,560.00			
	0060	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	TONS	\$120.000	1,109.89	\$133,186.80			
	0070	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$12.000	7,053.6	\$84,643.20			
	0160	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$10.000	1,231	\$12,310.00			
	0170	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$10.000	3,975.2	\$39,752.00			
Project J6S3630 - Total										
Overall - Total										

#### Contract Adjustments This Estimate

## No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3630	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)			Mix Laid between September 16th thru September 30th, 2024. Mix ID: SL 24-22 Tons Laid = 3,285.19			(\$11,469.42)



#### Pay Estimate Created Date: October 1, 2024

	Progress Estimate Number 6		Contract ID Prime Contractor	240119-F0 N.B. West Company	2 Contracting	Pay Period End September 30, I 2024	Driginal Contra Net Change Or Amount Current Contra	der \$	0.00
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3630						Current Index = 527 Base Index = 598.7 Difference = -71.2 Adjustment = -\$11,469.2	5		
	0060       FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR       Other Item Adjustment       Asphalt Cement Price Adjustment         0060       FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR       Overrun		OUS MATERIAL ASS C PARTIAL		Cement Price	Mix Laid between September 16th thr September 30th, 2024 Mix ID: BP1 24- Tons Laid = 1,109.8 Current Index = 527. Base Index = 598.7 Difference = -71.2 Adjustment = -\$3,321.3	1. 9 5 5 5		(\$3,321.35)
					-31.59	\$120.00	(\$3,790.80)		
	0070	P	. FOR CLASS C ARTIAL DEPTH EMENT REPAIR	Overrun			-383.8	\$12.00	(\$4,605.60)
Total									(\$23,187.17)



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information							
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J6S3630	FAS S503(32)	Resurface	N	FRANKLIN	from Route 30 to Route O south intersection and from Route O north intersection to end of state maintenance near Robertsville								
J6S3630	Job Numbe	ers			This Estimate	Previous	To Date						
1033030	Poste	Posted Item Pay Gross Item Adjustments Gross Item Pay			\$572,119.10 (\$23,187.17) \$548,931.93	\$320,606.77 \$0.00 \$320,606.77	\$892,725.87 (\$23,187.17) \$869,538.70						
				-									
	Incen	tive centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00						



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3630, Item 4071005, Project Item Line Number 0040, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Sampling Checklist update needed from SS-1H to CSS-1H	hamilk2	Overridden
Estimate Exception Type: Item Overrun: Contract 240119-F02, Contract Project J6S3630, Project Item Line Number 0060, Contract Line Item Number 0060, Item 6133020, Minor Item.	Change order fourth coming	hamilk2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240119-F02, Contract Project J6S3630, Project Item Line Number 0070, Contract Line Item Number 0070, Item 6133021, Minor Item.	Change order fourth coming	hamilk2	Acknowledged

#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Project Category Line Item Description Nm.CONTRACT No. Code							Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0119-F02	J6S3630	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$50,000.00	\$0.0
		0001	0020	3105003	GRAVEL (A) OR CRUSHED STONE (B)	3,669.00	0.00	3,669.00	SQYD	0.00	\$10.50	\$0.0
		0001	0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	11,734.00	0.00	11,734.00	TONS	6,071.48	\$90.00	\$546,433.2
		0001	0040	4071005	TACK COAT	12,093.00	0.00	12,093.00	GAL	4,711.00	\$2.50	\$11,777.5
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.01	\$0.0
		0001	0060	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,078.30	0.00	1,078.30	TONS	1,109.89	\$120.00	\$133,186.
		0001	0070	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	6,669.80	0.00	6,669.80	SQYD	7,053.60	\$12.00	\$84,643.
		0001	0080	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$20,000.00	\$10,000.
		0001	0090	6169902	MISC.NTCIP COMPLIANT CHANGEABLE MESSAGE SIGN, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$3,000.00	\$12,000.0
		0001	0100	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$128,000.00	\$32,000.0
		0001	0110	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	54.00	0.00	54.00	LF	0.00	\$20.00	\$0.0
		0001	0120	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.0
		0001	0130	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	16.00	0.00	16.00	EA	0.00	\$100.00	\$0.
		0001	0140	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	106,986.00	0.00	106,986.00	LF	0.00	\$0.14	\$0.
		0001	0150	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	95,319.00	0.00	95,319.00	LF	0.00	\$0.13	\$0.
		0001	0160	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	1,231.00	0.00	1,231.00	SQYD	1,231.00	\$10.00	\$12,310.
		0001	0170	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6,520.00	0.00	6,520.00	SQYD	3,975.20	\$10.00	\$39,752
		0001	0180	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$0.01	\$0.
		0040	0190	9031010	CONCRETE FOOTINGS, EMBEDDED	3.10	0.00	3.10	CUYD	3.05	\$2,300.00	\$7,015.
		0040	0200	9031210	STRUCTURAL STEEL POSTS	880.00	0.00	880.00	LB	752.31	\$7.00	\$5,266
		0040	0210	9031220	PIPE POSTS	1,150.00	0.00	1,150.00	LB	1,150.00	\$8.00	\$9,200.
		0040	0220	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	4.00	0.00	4.00	EA	4.00	\$425.00	\$1,700.
		0040	0230	9031250A	U-CHANNEL POST, 3 LB	339.00	0.00	339.00	LF	339.00	\$20.00	\$6,780.
		0040	0240	9031270A	2 IN. PSST POST - 12 GA.	2,988.00	0.00	2,988.00	LF	2,988.00	\$20.00	\$59,760.
		0040	0250	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	248.00	0.00	248.00	EA	248.00	\$200.00	\$49,600
		0040	0260	9031272A	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	4.00	0.00	4.00	EA	4.00	\$100.00	\$400.
		0040	0270	9031280	2.5 IN. PSST POST - 12 GA.	846.00	0.00	846.00	LF	846.00	\$24.00	\$20,304
		0040	0280	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	50.00	0.00	50.00	EA	50.00	\$280.00	\$14,000
		0040	0290	9035004A	SH-FLAT SHEET	623.00	0.00	623.00	SQFT	623.00	\$24.00	\$14,952
		0040	0300	9035011A	ST-STRUCTURAL	117.00	0.00	117.00	SQFT	117.00	\$36.00	\$4,212.
		0040	0310	9035069A	SHF-FLAT SHEET FLUORESCENT	1,841.00	0.00	1,841.00	SQFT	1,841.00	\$26.00	\$47,866.
		0070	0320	7040163	CONCRETE CRACK FILLER	1,284.00	0.00	1,284.00	SQYD	1,284.00	\$19.90	\$25,551.
	Project J	6S3630 - To	otal Value	Posted to E	Date as of Report Generated Date							\$1,148,709.
119-F02 Ove	rall - Total	Value Post	ed to Da	te as of Repo	ort Generated Date							\$1,148,709



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

1.1		<b>B</b> 1.0	014/0	011/0	0 17	11.2	1	-	011 11	-	011 11	<b>0</b> 1
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	9/26/24	10/1/24	1,466.05	TONS	South segment of Route N	0+00		152+15		
			9/30/24	10/1/24	1,819.14	TONS	South segment of Route N	0+00		194+10		
0040	4071005	TACK COAT	9/26/24	10/1/24	1,168.00	GAL	South segment of Route N	0+00		152+15		
			9/30/24	10/1/24	1,456.00	GAL	South segment of Route N	0+00		194+10		
0060	6133020	FURN & PLACE BIT. MATL FOR CL C PARTIAL	9/20/24	10/1/24	574.97	TONS	North segment of Route N	810+00		690+00		
			9/24/24	10/1/24	266.84	TONS	Route N at both the North/South segments.	721+17		159+76		Completed North segment repairs and began repairs on the south segment
			9/25/24	10/1/24	268.08	TONS	South segment @Route N	54+00		424+67		
0070	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	9/20/24	10/1/24	3,698.30	SQYD	North segment of Route N	810+00		690+00		
		REPAIR	9/24/24	10/1/24	1,810.30	SQYD	Route N at both the North/South segments.	721+17		159+76		Completed repairs on North segment and began repairs on the South segment.
			9/25/24	10/1/24	1,545.00	SQYD	South segment @Route N.	54+00		424+67		
0160	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	9/24/24	10/1/24	1,231.00	SQYD	Route N and O at the end of the North segment.	811+61		812+31		
0170	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9/26/24	10/1/24	350.00	SQYD	Route N at beginning of North segment.	690+00		702+00		
				10/1/24	373.30	SQYD	South segment of Route N.	4+60	LT			Concrete entrance transition.
				10/1/24	387.30	SQYD	North segment of Route N.	771+60	RT			Concrete entrance transition.
				10/1/24	389.70	SQYD	North segment of Route N.	708+02	RT			Concrete entrance transition.
				10/1/24	408.30	SQYD	South segment of Route N.	141+73	LT			Concrete entrance transition.
				10/1/24	439.50	SQYD	Route N at beginning of South segment.	0+12		1+62		
				10/1/24	793.90	SQYD	Route N at end of South segment	423+06		424+68		
				10/1/24	833.20	SQYD	End of the North segment @Route N and O	810+11	LT/RT	811+61	LT/RT	

The information below this line are details for Construction Signs (if applicable). No Data Available



## Line Item Adjustments by Estimate

Oct 4, 2024

#### Contract ID: 240119-F02

roject	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
S3630	0030	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	Other Item Adjustment	Type ACAD	6	Oct 1, 2024	stgemr1	(\$11,469.42)	Mix Laid between September 16th thru September 30th, 2024. Mix ID: SL 24-22 Tons Laid = 3,285.19
		1 004 22 (0011							Current Index = 527.5 Base Index = 598.75 Difference = -71.25 Adjustment = -\$11,469.25
				ACAD - Tot	al			(\$11,469.42)	
			Other Item A	djustment - T	otal			(\$11,469.42)	
	0030 -							(\$11,469.42)	
	0060	FURN & PLACE BIT. MATL FOR CL C PARTIAL	Other Item Adjustment	ACAD	6	Oct 1, 2024	stgemr1	(\$3,321.35)	Mix Laid between September 16th thru September 30th, 2024. Mix ID: BP1 24-1 Tons Laid = 1,109.89 Current Index = 527.5 Base Index = 598.75 Difference = -71.25 Adjustment = -\$3,321.35
				ACAD - Tot	al			(\$3,321.35)	
			Other Item A	djustment - T	otal			(\$3,321.35)	
			Overrun	Overrun	6	Oct 2, 2024	SYSTEM	(\$3,790.80)	
				Overrun - T	otal			(\$3,790.80)	
			Overrun - To	tal				(\$3,790.80)	
	0060 -	Total						(\$7,112.15)	
	0070	REMOVAL FOR CLASS C PARTIAL	Overrun	Overrun		Oct 2, 2024	SYSTEM	(\$4,605.60)	
		DEPTH PAVT REPAIR		Overrun - T	otal			(\$4,605.60)	
			Overrun - To	tal				(\$4,605.60)	
	0070 -							(\$4,605.60)	
	0080	30 MISC.	Material		5	Sep 16, 2024	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user stgemr1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Sep 16, 2024	SYSTEM	(\$10,000.00)	
				- Total				\$0.00	
			Material - Tot	al				\$0.00	
	0080 - 0090	MISC. TRAFFIC CONTROL	Material		5	Sep 16, 2024	SYSTEM	<b>\$0.00</b> \$12,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user stgemr1 overridding Payment
		DEVICES			5	Sep 16, 2024	SYSTEM	(\$12,000.00)	Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot					\$0.00	
	0090 -	Total						\$0.00	
	0220	BREAKAWAY ASSEMBLY (PERFORATED	Construction Stockpile		5	Sep 16, 2024	SYSTEM	(\$1,092.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		SQUARE		- Total				(\$1,092.00)	
		STEEL TUBE)	Construction	Stockpile - 1	ſotal			(\$1,092.00)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$1,092.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,092.00	
			Construction	Stockpile S	MI - Total			\$1,092.00	
	0220 -							\$0.00	
	0230		Construction Stockpile		4	Sep 3, 2024 Sep 16,	SYSTEM	(\$1,325.34)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
					0	Sep 16, 2024	SISIEM	(\$098.49)	r ayment Esumate tem Aujustment generated Stockpile Transaction
				- Total				(\$2,023.83)	



### Line Item Adjustments by Estimate

Oct 4, 2024

#### Contract ID: 240119-F02

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
630	0230	U-CHANNEL	Construction	n Stockpile - 1	Total			(\$2,023.83)		
		POST, 3 LB	Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$2,023.83	Payment Estimate Item Adjustment generated Stockpile Transaction	
			5111	- Total				\$2,023.83		
			Construction	n Stockpile S	TMI - Tota			\$2,023.83		
	0230 -	Total						\$0.00		
	0240	2 IN. PSST POST - 12 GA.	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$17,854.49)	Payment Estimate Item Adjustment generated Stockpile Transaction	
					5	Sep 16, 2024	SYSTEM	(\$12,204.79)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$30,059.28)		
			Construction	n Stockpile - 1	Total			(\$30,059.28)		
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$30,059.28	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$30,059.28		
			Construction	n Stockpile S	TMI - Tota			\$30,059.28		
	0240 -	Total						\$0.00		
	0250	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	ANCHOR FOR	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$7,460.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Sep 16, 2024	SYSTEM	(\$5,212.20)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$12,672.80)		
			Construction	n Stockpile - 1	Total			(\$12,672.80)		
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$12,672.80	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$12,672.80		
			Construction	n Stockpile S	TMI - Tota			\$12,672.80		
	0250 -	Total						\$0.00		
	0260	2.25 IN. PSST POST INSERT (6 FT.) - 12 GA.	Construction Stockpile		5	Sep 16, 2024	SYSTEM	(\$248.64)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$248.64)		
				n Stockpile - 1				(\$248.64)		
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$248.64	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$248.64		
		<b>-</b>	Construction	n Stockpile S	IMI - Tota			\$248.64		
	0260 - 0270	2.5 IN. PSST	Construction		4	Sep 3, 2024	SYSTEM	\$0.00 (\$4,238.91)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		POST - 12 GA.	Stoorpile		5	Sep 16, 2024	SYSTEM	(\$5,659.29)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total		2027		(\$9,898.20)		
			Construction	1 Stockpile - 1	Total			(\$9,898.20)		
			Construction	-otoexpile-	1	Jul 15,	SYSTEM	\$9,898.20	Payment Estimate Item Adjustment generated Stockpile Transaction	
			Stockpile	- Total		2024	OTOTEM	\$9,898.20	r aymont Estimate tem Augustinent generated offeetpile Transaction	
			Construction	• Total • Stockpile S <sup>•</sup>	TMI - Total			\$9,898.20		
	0270 -	Total	Construction	- eteckpile S				\$9,898.20		
	0270 -	DRIVEN POST ANCHOR FOR	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$2,016.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		2.5 IN. PSST - 7 GA.			5	Sep 16, 2024	SYSTEM	(\$3,024.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				(\$5,040.00)		
			Construction	1 Stockpile - 1	Total			(\$5,040.00)		
			Construction		1	Jul 15,	SYSTEM	\$5,040.00	Payment Estimate Item Adjustment generated Stockpile Transaction	



## Line Item Adjustments by Estimate

Oct 4, 2024

#### Contract ID: 240119-F02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3630	0280	DRIVEN POST ANCHOR FOR	STMI	- Total				\$5,040.00	
		2.5 IN. PSST - 7 GA.	Construction	Stockpile S1	MI - Total			\$5,040.00	
	0280 -	Total						\$0.00	
	0290	SH-FLAT SHEET	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$3,102.66)	Payment Estimate Item Adjustment generated Stockpile Transaction
					5	Sep 16, 2024	SYSTEM	(\$3,065.04)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$6,167.70)	
			Construction	Stockpile - 1	otal			(\$6,167.70)	
			Construction Stockpile		1	Jul 15, 2024	SYSTEM	\$6,167.70	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$6,167.70	
			Construction	Stockpile S1	MI - Total			\$6,167.70	
	0290 -	Total						\$0.00	
	0300	ST- STRUCTURAL	Construction Stockpile		5	Sep 16, 2024	SYSTEM	(\$2,094.30)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,094.30)	
			Construction	Stockpile - T	otal			(\$2,094.30)	
			Construction Stockpile		1	Jul 15, 2024	SYSTEM	\$2,094.30	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$2,094.30	
			Construction	Stockpile S1	MI - Total			\$2,094.30	
	0300 -	Total				_		\$0.00	
	0310	SHEET	Construction Stockpile		4	Sep 3, 2024	SYSTEM	(\$11,599.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
		FLUORESCENT			5	Sep 16, 2024	SYSTEM	(\$8,467.12)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$20,066.90)	
			Construction	Stockpile - 1	otal	_		(\$20,066.90)	
			Construction Stockpile STMI		1	Jul 15, 2024	SYSTEM	\$20,066.90	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$20,066.90	
			Construction	Stockpile ST	MI - Total			\$20,066.90	
	0310 -	Total						\$0.00	
	0310 -	CONCRETE CRACK FILLER	Material		2	Aug 2, 2024	SYSTEM	\$25,551.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user hamilk2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2 /		SYSTEM	(\$25,551.60)	
	- Total							\$0.00	
			Material - Tot	al				\$0.00	
	0320 -	Total						\$0.00	
J6S3630 -	Total							(\$23,187.17)	
Overall -	Total							(\$23,187.17)	



There are no contract adjustments to display for this contract.